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Exercise 2

Verify that (c2t2 − x2 − y2 − z2)−1 satisfies the wave equation except on the light cone.

Solution

The three-dimensional wave equation is

utt = c2(uxx + uyy + uzz).

Find all the second derivatives of u(x, y, z, t) = (c2t2 − x2 − y2 − z2)−1.

ut = −(c2t2 − x2 − y2 − z2)−2(2c2t)

utt = 2(c2t2 − x2 − y2 − z2)−3(2c2t)2 − (c2t2 − x2 − y2 − z2)−2(2c2)

=
8c4t2

(c2t2 − x2 − y2 − z2)3
− 2c2

(c2t2 − x2 − y2 − z2)2

=
8c4t2 − 2c2(c2t2 − x2 − y2 − z2)

(c2t2 − x2 − y2 − z2)3

=
6c4t2 + 2c2(x2 + y2 + z2)

(c2t2 − x2 − y2 − z2)3

ux = −(c2t2 − x2 − y2 − z2)−2(−2x)

uxx = 2(c2t2 − x2 − y2 − z2)−3(−2x)2 − (c2t2 − x2 − y2 − z2)−2(−2)

=
8x2

(c2t2 − x2 − y2 − z2)3
+

2

(c2t2 − x2 − y2 − z2)2

=
8x2 + 2(c2t2 − x2 − y2 − z2)

(c2t2 − x2 − y2 − z2)3

=
6x2 + 2(c2t2 − y2 − z2)

(c2t2 − x2 − y2 − z2)3

uy = −(c2t2 − x2 − y2 − z2)−2(−2y)

uyy = 2(c2t2 − x2 − y2 − z2)−3(−2y)2 − (c2t2 − x2 − y2 − z2)−2(−2)

=
8y2

(c2t2 − x2 − y2 − z2)3
+

2

(c2t2 − x2 − y2 − z2)2

=
8y2 + 2(c2t2 − x2 − y2 − z2)

(c2t2 − x2 − y2 − z2)3

=
6y2 + 2(c2t2 − x2 − z2)

(c2t2 − x2 − y2 − z2)3

uz = −(c2t2 − x2 − y2 − z2)−2(−2z)

uzz = 2(c2t2 − x2 − y2 − z2)−3(−2z)2 − (c2t2 − x2 − y2 − z2)−2(−2)

=
8z2

(c2t2 − x2 − y2 − z2)3
+

2

(c2t2 − x2 − y2 − z2)2

=
8z2 + 2(c2t2 − x2 − y2 − z2)

(c2t2 − x2 − y2 − z2)3

=
6z2 + 2(c2t2 − x2 − y2)

(c2t2 − x2 − y2 − z2)3

www.stemjock.com



Strauss PDEs 2e: Section 9.1 - Exercise 2 Page 2 of 2

Substitute these formulas into the wave equation to check whether u(x, y, z, t) is indeed a solution.

6c4t2 + 2c2(x2 + y2 + z2)

(c2t2 − x2 − y2 − z2)3
?
= c2

[
6x2 + 2(c2t2 − y2 − z2)

(c2t2 − x2 − y2 − z2)3
+

6y2 + 2(c2t2 − x2 − z2)

(c2t2 − x2 − y2 − z2)3
+

6z2 + 2(c2t2 − x2 − y2)

(c2t2 − x2 − y2 − z2)3

]
?
= c2

[
6x2 + 2(c2t2 − y2 − z2) + 6y2 + 2(c2t2 − x2 − z2) + 6z2 + 2(c2t2 − x2 − y2)

(c2t2 − x2 − y2 − z2)3

]
?
= c2

[
2x2 + 2y2 + 2z2 + 6c2t2

(c2t2 − x2 − y2 − z2)3

]
=

6c4t2 + 2c2(x2 + y2 + z2)

(c2t2 − x2 − y2 − z2)3

Therefore, u(x, y, z, t) = (c2t2 − x2 − y2 − z2)−1 satisfies the wave equation except when
c2t2 = x2 + y2 + z2.
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